oh& ZAMEE ABCD 9] + H3 A A, C Aoocdome D

oA thztd BD o] W€l $419] B 747t ,
E, F 2 & o, DAECF ¢ Ho]=? ,

3cm
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B
8 84
© g om? @) 5 em? ® 12em?
@ 113 cm? ® 12 V3 cm?
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BD = V32 142 = 5(cm)

5xAE =3x4
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_ T /19\2
B= #-(5) =5 (m
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AABC 9] Ho] §, = ‘{Tgxm? =253

AABP 9] Ho] §, = 10xPQ x % =5PQ

—— 1 -
AAPC 9] ¥lo] S3 = 10xPR x 3 =5PR

S1=2S5+S3°|2& 253 = 5PQ+5PR
.. PQ+PR =53
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0° A45° [
A400/]3 H D

@ AB =400, /A =30°, /CBH = 45°

© CHLAH

@ 50(V3+1) @ 100(V3+1) @200(«/§+ 1)
@ 300(V3+1) ® 350(V3+1)

B

CH = x2} 511 BH = x
ACHOA CH: AH=1: V3
x:(4004+x) =1: V3
400 4 x = V3x

(V3 = 1)x =400
x=200(V3+1)




A1, 2) B(=5, 0) A &2 A=l Adey = A H P 9

=4
38 Fohofer,

@ 0,-5) @ (0,-4)
@ (0,-2) ® (0,-1)

® (0,-3)

A POl HRE (0, p) 2 o

BP =./25 + p?
AP=\/1+(p-2)2
BP = APo|E &

V254 p2 = /14 (p-2)?
25+ p? =1+ (p-2)?
—4p = 20

p=-5.. P(0,-5)




6. FHEFEH O FH A(-2, 1),B(1, 4) o tiste] AP = BP, /APB =
90° 7t H=5 H P & & o, aAAPB °] E89] Zol=?

@ 3+ V2 @ 32 ® 6
@)6+3v2 ® 6+6V2

AP = BP = x &} 519,
P +x2=(3V2)?2 . x=3
L AABP 9] EH=3+3+3V2=6+3V2
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1 ZA =90°, AB = 10cm , AC = 4cm €1 AABC 7}
ot o8 ol AZEY BDEC & 132 o, AHe
B9l gol]& FotH?

10cni 4cm
B T C
[]
D G E
® 56cm? @ 57cm? @ 58cm?
@ 59cm? ® 60cm?

~&B

AABC 9|4 BC = V10% + 42 = V116(cm)
(AABD®] Hol) = (ABDF9] He])
(AAECS] Yol) = (AFEC2] Hol)

. 1
(MAEgE HE9] go]) = ABDF + AFEC = 5(DBDEC) =

58(cm?)




10.

(44 4v2)cm
(6 +8+2) cm
(@)(8+8«/§)cm

@ (4+8V2)em
@ 8+ \/i)cm




11.

O “po-

e YT e ALY B Ao

A AR QT P g Edetel thg a” |3

Zol g¥e] 7 Q & whA gt ol W, °

e 7 22k 2 A= \
e

®vio @ vis (@) i

@ 2v35  ® 5v5

a-A A Q & AR A5 Q

AeQ, AP g AL Aol 5T )

4L Pt ol
BQ = BQ’, AP = AP’O|EE P —
A—-B- Q=R 7= AR9 FHd A+
EPQ 2

L HAS A= PQ = VPP + 92 =
V130 och.

O “po-




